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R Wik 2.5mLX1 M, 4°CHRAE;

WA= Wik 12.5mLX 1 i,  4°CHEAF,
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(104 ™) : BEURAR (mL) N 500~1000: 1 MIELH] (Y 500 J340E AN 1mL 42 B, &
PR (UKIR, ThE 20%8K 200w, #E75 3s, [AFE 10s, EEHE 30 KD, #H 30min, 8000g, 25°CH L
10min, B _EJERRN.
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2. W WEBALURE (g : IREURAR(mLA 1: 5~10 MIEF] CERIRINZ 0.1g A4,
O AmL $REGRD, FEATUKIE I, # B 30min, 8000g, 25°CEL» 10min, HU BB,

3. Mg GO BEE: BIRIME GO HB (mL « JREEAR(mL N 1 5~10 LG (g
WHL0.ImL ML RO A ImL B0, HBEATUKIAAIIK, # & 30min,  8000g, 25°CES.L>

10min, HU_EiERF.

e PR
1. e EE AR T 30min LE, AT K E 520nm, ZEEKIEE.
2. TEMEAFELEIE 96 FLRFIMA 75 n L FEART 25 uL k71—, B2, #HE 2min, fIA

125 u L WA=, WA, T 520nm B EERICE A.
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a A EAE AL E NI EARNT
1. ARAESAE T E [RIH T FEN v = 0.0466x + 0.0675;  x ANEIRE S (ug/mL), v AW

2. I CGR) AR

PIBRARE &8 (wg/mL) =[(A-0.0675)+0.0466 X V1]+ (V3XV1+V2) =214.6 X (A-0.0675)

3. ZIREARETH

PIERRE &8 (ug/g #EE) = [(A-0.0675)+0.0466 X V1]+ (W XV1+V2) =21.46X (A-0.0675) +

=

3. i HE A T A 2 B

PIBAER & & (1 g/104 cell) =[(A-0.0675)=0.0466 X V1]+ (500X V1-+V2) =0.043 X (A-0.0675)
V1: AIASRAE RAPFEAARL, 0.075mL: V2: MIASREGRAARL, 1mLs v3: IIAILE (O
AR, 0.1mL;  Cpr: FEAREAFIKRE, mg/mL; W: FEAFIE, g; 500: 45 o5,

500 /Ji.
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b.Fl 96 FLRAEHKIHH AR T

1. BRUESAE FSE FA 7R y = 0.0233x + 0.0675;  x NREIEE & & (pg/mL), v AW
fH.

2, fEMRIE G ABUHE

AR & & (ug/mL) =[(A-0.0675)+0.0233XV1]+ (V3XV1+V2) =429.2 X (A-0.0675)

3. ERE AR

HEARE & & (ug/mgprot) =[(A-0.0675)+0.0233 X V1]+(V1X Cpr)=42.92 X (A-0.0675) = Cpr
4. FIREM PR

PIERRE &8 (ug/g EHE) =[(A-0.0675)+0.0233 X V1] (W XV1-+V2) =42.92X(A-0.0675) +~W
3. 2 IR 2 B O A P 5

PIEARR & & (1 g/104 cell) =[(A-0.0675)+0.0233 X V1]+ (500X V1+V2) =0.086 X (A-0.0675)
V1: N RAR R HREAMER, 0.075mL; V2: JIANIREGEATN, 1mL; v3: IIANILE GRO
AL 01mLs  Cpr: FEAREAFKE, mg/mLs W: FEAJGE, g: 500: 45 sS4,

500 fi.

EE:

BARAIMR Sy 1ng/mL 58 11g/g #EEEL 10ng/mg prot



